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1. An ONTAP administrator wants to use OnCommand System Manager to view the Cloud
Volumes ONTAP cluster to administer protocol access to certain volumes.

A. https://10.20.1.3
B. https://10.20.1.6
C. https://10.20.1.5

D. https://10.20.1.4

Answer(s): C

2. Which two elements should be configured for a VPN connection in AWS? (Choose two.)

A. customer gateway
B. Internet gateway
C. NAT gateway

D. virtual private gateway

Answer(s): B,C

3. You want to move cold user data blocks from an AFF A300 active file system to the capacity
tier In AWS S3.

A. Set the auto tiering policy.



B. Set a Snapshot copy tiering policy.

C. Set a none tiering policy.

D. Set the backup tiering policy.

Answer(s): D

4. Which two security group configurations would be used when deploying Cloud Volumes
ONTAP?

A. Use no security group.

B. Generate a security group.

C. Use an existing security group.

D. Generate a security group with no rules.

Answer(s): B,C

5. You are setting up a Cloud Volumes ONTAP HA on AWS.

A. Data is synchronously mirrored between both nodes.

B. Both nodes connect to a shared pool of S3 storage.

C. Both nodes connect to a shared pool of mirrored EBS disks.

D. Volume Snapshot copies are replicated between both nodes.

Answer(s): A

6. Which component is used to enable failover for Cloud Volumes ONTAP HA in AWS?



A. System Manager

B. CLI

C. Mediator

D. OnCommand Cloud Manager

Answer(s): C

7. You are the administrator for your company's public cloud infrastructure. Your Cloud Volumes
ONTAP systems are working properly, ensuring that all users can access the data services that
the system provides. Performance and health data Is not being reported to NetApp for support.

A. outbound access to HTTP/HTTPS mysupport.netapp.com

B. bidirectional access to HTTP/HTTPS mysupport.netapp.com

C. outbound access to HTTP/HTTPS activelQ.netapp.com

D. outbound access to SMTP activelQ.netapp.com

Answer(s): A

8. You have a cloud-connected storage system that is located in a collocation facility that uses a
direct connect into AWS. The direct connect circuit is already configured, and it is working for the
SVMs that were created earlier on the cluster.

A. Create the protocol LIFs on the SVM that uses the VLAN interface ports.

B. You must have an AWS Elastic Network IP (EIP) attached to the compute nodes in AWS.

C. Create VLAN interface ports on cluster nodes.

D. Set up a network connection to the Internet in the collocation.

Answer(s): A,C



9. Your customer is using Google Cloud Interconnect to access a StorageGRID S3 bucket from
applications running in Google Cloud Platform (GCP).

A. the VLAN configuration on the private cloud switches

B. the CIDR blocks configured on the Cloud Interconnect

C. the Border Gateway Protocol (BGP) parameters on the private cloud routers

D. the maximum transfer unit (MTU) settings on the private cloud routers

Answer(s): B

10. You want to back up your Offlce365 data with NetApp SaaS Backup. In this scenario, what
ate three supported destinations? (Choose three.)

A. BoK.com

B. Amazon S3

C. Google Cloud File store

D. Bring Your Own Storage (BYOS)

E. Microsoft Azure Blob

Answer(s): B,C,E

11. You are using Cloud Volumes ONTAP for Azure. Your company wants to change hyper
scalers.

A. Set up a Direct Connect between AWS and Azure.

B. Set up an ExpressRoute between Azure and AWS.

C. Modify the export policy on your Cloud Volume ONTAP volumes to allow a data broker.



D. Create a VPN between Azure and AWS.

E. Deploy a Cloud Sync data broker in your AWS VPC with Cloud Volumes Service.

Answer(s): B,D,E

12. You need to double your Cloud Volumes Service storage and performance. Which attribute
would you edit to satisfy this requirement?

A. Service level
B. Quota
C. Togs

D. Name

Answer(s): A

13. Your organization's security policy requires centrally managed user rights with granular

permission assignment capabilities for authenticated users to access the Spot by NetApp
console.

A. Create an access token and assign it to each user.
B. Configure integration with your organization's single sign-on (SSO).
C. Enable Spot by NetApp's multifactor authentication (MFA).

D. Create a programmatic user account for each user.

Answer(s): B

14. You are provisioning SMB or dual-protocol shares in Cloud Volumes Service-In this scenario,
what Active Directory information must be provided?



A. DNS server IP address

B. gateway IP address

C. DHCP server IP address

D. NIS server IP address

Answer(s): C

15. What are two requirements when using SaaS-based NetApp Cloud Manager to deploy an
instance of Cloud Volumes ONTAP? (Choose two.)

A. A service account needs to deploy it.

B. A NetApp Connector in your cloud or an on-premises network is required.

C. An account administrator needs to deploy it.

D. A storage gateway in your cloud or an on-premises network is required.

Answer(s): B,C

16. When you delete an instance of Cloud Volumes ONTAP, which two statements are true?

A. For versions of Cloud Volumes ONTAP lower than 8.1 you must use the CLI.

B. The version of OnCommand Cloud Manager must be greater than 1.1.

C. The name of the working environment must be specified.

D. You cannot reuse the license.

Answer(s): C,D

17. Referring to the exhibit, what is being configured?



A. tiering of AWS S3 to on premises ONTAP

B. tiering of on-premises ONTAP to AWS S3

C. replication of on premises ONTAP to Cloud Volumes ONTAP

D. replication of Cloud Volumes ONTAP to on-premises ONTAP

Answer(s): C

18. What is the difference between a mirror and a backup replication policy?

A. Backup replication policies can retain more Snapshot copies at the destination than at the source.

B. Mirror replication policies can retain more Snapshot copies at the destination than at the source.

C. Mirror replication policies are faster than backup replication policies.

D. Backup replication policies are faster than mirror replication policies.

Answer(s): A

19. Which two mandatory export policy variables need to be defined when creating a volume in
Cloud Volumes ONTAP? (Choose two.)

A. Service Level

B. Junction Path

C. Allowed Clients

D. Access

Answer(s): C,D




20. Your environment that is monitored by Cloud Insights is growing rapidly and requires the
deployment of additional Data Collectors. You want to deploy preconfigured collectors. In this
scenario, what allows you to accomplish this task?

A. Data Collector Federation

B. Data Collector cloning

C. Data Collector bulk import

D. Data Collector PowerShell script

Answer(s): C




